A BRI SIERAT

— E el 4
=] 3 g
— 2l
= 1# 2 iF
T
B
2 -
oL e 2z g el R 4 1[5 ™
\ Mo . e o = s i e PERE e 1l
p o ) B e ] =
| g8 = 2l

(e
T
51961

FE % & B % B & B 7 = %, Eg
1 | BESER w | 1276100 £19. 145 L glg%
RF 17553. 14 (1) 4 z

. i =REh bl i TG ) = ‘
s 3 |HERREER | w | 131058 P :
3| ECx w | 259185 52 2y v
DX w | 159861
B w | 13187.12 ¥ B g
4 | PHEBRAES | | 2770.20 ]
® | 1 HBETNE | o 175. 56 E <
b #BMTE | w | 1307.48 . ‘
Ho 34 4BTE | | 128716
5 | ESEREH w | 3829.10 3
| BACX w | 1163.64 - EW
FLEDX m | 888.02 Y
F |1 w | 1777.44 5 2
6 |BHEE % 30
T ARE = 1.36 A
8 | bk % 30.03 £
o | MapEmER A | 06 CrOiE gy o
B EGEEMHERE (RTEEMRIME) (6B/T 51149-2016) il

-y - IR o RAREMELECHIVEE, #HERY, RTIREAHBER.

e, o -

RSFHEE



